
SECTION 3/4"=1'-0
D

2
'-
1
0
 5

/
8
"

S2.1

1'-2"

WF BEARS IN POCKET
IN 8" CONC WALL ON
3/4" BASEPLATE ON ±1"
HIGH STR. GROUT.

(2) 3/4" THREADED

ANCHOR RODS W/ 16"
MIN EMBEDMENT.

-TYP WALL

REINFORCING W/ (2)
BENT #5 U-BARS CAST
IN POCKET.

GROUT POCKET
SOLID. -TYP

SECTION 3/4"=1'-0
H

S2.1

SEE SECTION 'A' FOR
CIP WALL AND
FOOTING DETAILS

SEE ARCH

#4 HOOKED DOWELS
18" x 18" @ 24" O.C. -TYP

POUR SLAB OVER WALL

4" SOG W/ FIBERMESH,
SEE PLAN

SEE PLAN

SLOPE PER ARCH

4
'-
0
" 

M
IN

 -
T

Y
P

FREE DRAINING COMPACT
STRUCTURAL FILL

6X10 BEAM @
PORCH ROOF RAFTER

(4) #10 X 6" SCREWS -
TOE NAILED - TYP

3X12 RAFTER @ 16" O.C. TYP UNO
- SLOPE PER ARCH

T&G BOARD OVER
RAFTERS - SEE ARCH
FOR DETAILS

REFERENCE
ELEV: 100' 0"

3"
7"

FOOTING
BEYOND

30"

REF. ELEV.= SEE PLAN

8"

(2) #5 CONT. @ TOP, MID, &
BOT - TYP. UNO.

10"

#5 VERT DOWELS @ 16" O.C.
- TYP. UNO.

SITE PREP PER SOILS REPORT

FOUNDATION DRAINS BY OTHERS
- TYP

(2) 3/4" A325 - TYP @ W8

4" SOG W/ FIBERMESH ON VAPOR
BARRIER ON RIGID INSULATION  ON 12"
OF COMPACTED STRUCTURAL FILL, SEE
SOILS REPORT -TYP

WF BEARS IN POCKET IN 8" CONC

WALL ON 3/4" BASEPLATE ON ±1"
NO SHRINK - NON METALIC GROUT.

#5 CONT. @ 12" O.C. - TYP.
UNO.

SITE PREP PER SOILS REPORT

3/4" HEADED ANCHOR

STUDS @ 18" O.C. @ BEAMS

2" VLI DECK W/ 5"
CONCRETE SLAB W/
FIBERMESH

3/4"=1'-0

5
"

W33X118 BEAM

SECTION 3/4"=1'-0
C

S2.1

SECTION 3/4"=1'-0
F

S2.1

SECTION
E

S2.1

REF. ELEV.= SEE PLAN

REFERENCE
ELEV: 100' 0"

2X6 @ 16" O.C. BEARING WALL -
SEE PLAN

3/4" BASEPLATE ON ±1" GROUT.

(4) 1" THREADED ANCHOR RODS
W/ 24" MIN EMBEDMENT.

(2) 3/4" THREADED ANCHOR
RODS W/ 16" MIN EMBEDMENT.

6'-6"X6'-6" X 12" DEEP
FOOTING W/ # 5 REBAR @ 12" O.C.
EACH WAY - TOP & BOTTOM - TYP.
UNO.

24" Ø COLUMN W/ (7) #5 VERTS  &
#4 TIES @ 12" O.C.

50"

10"

(7) #5 HOOKED DOWELS

EMBEDDED IN FOOTING @
COLUMN VERTS - TYP. UNO.

(4) 3/4"Ø A325

6X6X3/8" HSS STEEL COLUMN W/
3/4" CAP & BASE PLATES

6'-6"X6'-6" X 12" DEEP

FOOTING W/ # 5 REBAR @ 12" O.C. EACH
WAY - TOP & BOTTOM - TYP. UNO.

#4 HOOKED DOWELS EMBEDDED IN
FOOTING @ 16" O.C. - TYP

4
'-
0
" 

M
IN

 -
T

Y
P

2x6 @ 16" BEARING WALL
-SEE PLAN

2x6 P.T. BOTTOM PLATE -
TYP

CONTINUE HOR REBAR THROUGH
LARGE FOOTING @ BEAM SUPPORT - TYP

D
S2.1

REFERENCE
ELEV: 100' 0"

P.E.TRUSSES - SEE PLAN

3/4" T&G - SEE NOTES ON
S1.0 - TYP

W33X118 BEAM

SECTION 3/4"=1'-0
G

S2.1

3/4" BASEPLATE ON ±1" HIGH
STR. GROUT.

(4) 1" THREADED ANCHOR RODS
W/ 24" MIN EMBEDMENT.

24" Ø COLUMN - SEE SECTION 'E'
FOR DETAILS

4
'-
0
" 

M
IN

 -
T

Y
P

SEE ARCH

(4) 3/4"Ø A325

6X6X3/8" HSS STEEL COLUMN W/
3/4" ATTACHMENT PLATES

2x6 @ 16" BEARING WALL
-SEE PLAN

2x6 P.T. BOTTOM PLATE -
TYP

FASCIA BOARD /
FINISHES - SEE ARCH

3/8" FULL HEIGHT
FITTED STIFFENER

PLATES @ COLUMN
LOCATIONS & W8X24
FRAMING TYP

3/4" A325 FULL HEIGHT
FITTED STIFFENER
PLATE @ COLUMN
LOCATIONS & W8X24
FRAMING TYP

2X8 LEDGER

(3) 4" SDS @ 16" O.C.

LUS28 HANGER - TYP

4
'-
0
" 

M
IN

 -
T

Y
P

SEE ARCH

ABUZ POST BASE W/
5/8" Ø X 8" W.A.

6X6 P.T. POST MIN.

(2) #5 CONT. @ TOP, MID, &
BOT - TYP. UNO.

8"

#4 HOOKED DOWELS
EMBEDDED IN FOOTING
@ 16" O.C. - TYP. UNO.

11"

SEE PLAN

SITE PREP PER SOILS REPORT

4
' 0

" 
M

IN

30"

#5 CONT. @ 12" O.C. - TYP.
UNO.

SITE PREP PER SOILS REPORT

SEE PLAN FOR FOOTING
TYPE / REFERENCE

A
S2.1SECTION

4" SOG W/ FIBERMESH ON VAPOR
BARRIER ON RIGID INSULATION
ON 12" OF COMPACTED
STRUCTURAL FILL, SEE SOILS
REPORT -TYP

#4 EPOXY SET DOWEL W/ 8"
MIN EMBED @ 16" O.C..

#5 VERT DOWELS @ 16" O.C.
- TYP. UNO.

FOUNDATION DRAINS BY OTHERS
- TYP

3/4"=1'-0

2X6 @ 16" O.C. BEARING WALL -
SEE PLAN

REF. ELEV.=100'-0" 

PER ARCH

1/2" X 10" GALV WEDGE
ANCHOR @ 32" O.C.

2X6 P.T PLATE @ EDGE

2X6 P.T PLATE @ EDGE

10"

SEE PLAN

SITE PREP PER SOILS REPORT

4
' 0

" 
M

IN

SITE PREP PER SOILS REPORT

SEE PLAN FOR FOOTING
TYPE / REFERENCE

B
S2.1SECTION

4" SOG W/ FIBERMESH ON VAPOR
BARRIER ON RIGID INSULATION
ON 12" OF COMPACTED
STRUCTURAL FILL, SEE SOILS
REPORT -TYP

#4 EPOXY SET DOWEL W/ 8"
MIN EMBED @ 16" O.C.

SEE SECTION 'A' FOR
DETAILS ON STANDARD CIP
WALLS - TYP

FOUNDATION DRAINS BY OTHERS
- TYP

3/4"=1'-0

REF. ELEV.=100'-0" 

2X4 P.T. SLEEPERS @ 16" O.C.

3/4" PLYWOOD OVER SLEEPERS

DO NOT BREAK SHEATHING @
TRANSITION POINT FROM
CONCRETE STRUCTURE TO
WOODEN TRUSSED
STRUCTURE

5"
3"

SEE MAIN SECTION 'A' FOR
CIP WALL DETAILS

SITE PREP PER SOILS REPORT

4" SOG W/ FIBERMESH ON VAPOR
BARRIER ON RIGID INSULATION
ON 12" OF COMPACTED
STRUCTURAL FILL, SEE SOILS
REPORT -TYP

#4 EPOXY SET DOWEL W/ 8"
MIN EMBED @ 16" O.C..

2X6 @ 16" O.C. BEARING WALL -
SEE PLAN

REF. ELEV.=100'-0" 

1/2" X 10" GALV WEDGE
ANCHOR @ 32" O.C.

2X6 P.T PLATE @ EDGE
2X4 P.T. SLEEPERS @ 16" O.C.

3/4" PLYWOOD OVER SLEEPERS

5"
3"

'aa' SIMILAR DETAIL 

AT WOOD DECK OVER

2X6 P.T PLATE @ WALL

6" STEM WALL
- TYP UNO

1/2" GYP - SEE ARCH

1/2" SHEATHING @ FRAMING -
SEE NOTES ON S1.0

RIGID INSULATION - VERIFY
W/ ARCH

5/8" EXTERIOR PLYWOOD -
SEE S1.0 FOR DETAILS

SEE ARCH FOR INSULATION
/ FINISHES

REF. ELEV.=100'-9 3/4" 

7/16" OSB

1/2" GYP - SEE ARCH

T.O. WALL = SEE PLAN

W33X118 BEAM

W8X24 BEAMS @ 10' O.C.
MAX

2X6 PLATE AT STEEL

ELEV- SEE PLAN

3/4" HEADED ANCHOR
STUDS @ 18" O.C. @ BEAMS

2" 20 GAGE VLI DECK W/ 5"
CONCRETE SLAB W/
FIBERMESH

L6X3 1/2X3/8" ANGLE @
SLAB EDGE POUR

18" P.E. FLOOR TRUSSES
@ 16" O.C.

3/4" T&G PLYWOOD

2X6 @ 16" O.C. BEARING
WALL - SEE PLAN

(3) 2X10 W/ 2X TOP PLATE &
FILLER BLOCKING @ JOIST
CONNECTION

3/8" A325 FULL HEIGHT FITTED
STIFFENER PLATES @ COLUMN
LOCATIONS & W8X24 FRAMING TYP

1
'-
0
 1

/
4
"

B
E

A
R

IN
G

S
E

A
T

1
8
" 

P
.E

. 
T

R
U

S
S

5 1/2" BEARING SEAT

18" P.E. TRUSSES TO HAVE
12 1/4" X 5 1/2" TOP CHORD
BEARING AT LOCATION OF
CONC DECK TRANSITION

T.O. STEEL = 98'-9"

7/16" OSB

W8X24 BEAMS

(3) #4 TIES @ TOP

1/2" OSB

3"

FRAMING AT SKIRT
WALL W/ 2X4 VERTS @
16" O.C. - SINGLE TOP
PLATE TO STEEL &
DOUBLE BOTTOM
PLATE.

2X FRAMING @ 16"
O.C. AT EXTERIOR
WALL CONNECTION

FRAMING AT SKIRT
WALL W/ 2X4 VERTS @
16" O.C. - SINGLE TOP
PLATE TO STEEL &
DOUBLE BOTTOM
PLATE.

2X FRAMING @ 16"
O.C. AT EXTERIOR
WALL CONNECTION

S
E

E
 A

R
C

H S
E

E
 A

R
C

H

LSL RIM TYPICAL

1/2" X 10" GALV
WEDGE ANCHOR @
32" O.C.

5/8" OSB SHEATHING,
SEE GENERAL NOTES
-TYP - W/ NO EXPOSED
FASTENERS TO BELOW

FINISHED WRAP
- SEE ARCH - TYP

W8 BEAM - SEE PLAN FOR SIZE

(2) 3/4"Ø A325 BOLTS IN 13/16"
Ø HOLES @ W8 CONNECTION -
TYP UNO

(2) 3/4"Ø A325 BOLTS IN 13/16" Ø HOLES

@ W8 CONNECTION - TYP UNO
W8 BEAM - SEE PLAN
FOR SIZE

15" #4 REBAR EPOXY
SET CONNECTION AT
BEAM TO COLUMN

FLASHING PER ARCH

5"

3"

2
3
" 

o
r 

1
4
" 

S
T

E
M

- 
S
E

E
 P

L
A

N

'bb' SIMILAR DETAIL 

AT RAISED STEM WALL

(2) #5 CONT. @ TOP, MID, &
BOT - TYP. UNO.

#5 VERT DOWELS @ 16" O.C.
- TYP. UNO.

#5 CONT. @ 12" O.C. - TYP.
UNO.

ELEV. = SEE PLAN

A
S 

N
O

TE
D

SH
ER

ID
A

N
ST

R
EE

T

D
at

e:
Sc

al
e:

R
ev

is
io

ns
:

SH
ER

ID
A

N
 S

TR
EE

T
PO

R
TL

A
N

D
, M

A
IN

E

48
 U

ni
on

 W
ha

rf
   

Po
rtl

an
d,

 M
ai

ne
 0

41
01

(2
07

) 7
72

-6
02

2 
   

Fa
x 

(2
07

) 7
72

-4
05

6

10
 M

ar
ch

 2
01

4




